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SN M
HE: MBNY S (LY BLIALHUR/MATE - D5
chelr dEtaty XM A = (et
% 5 15|
SA - FHEY B9 (3H) - HRALY i HlRE2
ADLESHS JIgt 2F (I AT XE) 2,700,000 600,000 2,100,000
403 MHXSHHME X201 H ,700,000 600,000 2,100,000
01 AtXIEMAEEX 600,000 600,000 0
OAET Lt ATH DBt S 600,000
02 S 2S0CHEA=X 2 &AL Bl , 100,000 0 2,100,000
ouuUXEBNetY AQEEHS 2 , 100,000
MESEXT T4 A (2IHHAREXE) ,000,000 1,000,000 1,000,000
403 XSS X201 H ,000,000 1,000,000 1,000,000
02 B2 S0ICHEH A= X 2| & A HI ,000,000 1,000,000 1,000,000
OUE e HEIZHAHEI A ,000,000
St 2= 23 A4 YHAH S 10,000 0 10,000
308 XFXIEHHISOIE 10,000 0 10,000
113 2SoteE&E S A 10,000 0 10,000
O3H =2)= 22 & ME A 10,000
AHE AR E AL (SHEEXH) 65,000 0 65,000
403 XM S0l & 65,000 0 65,000
02 S 2S0CHet A =X 2 & ALl 65,000 0 65,000
OX<S CIXe olzZel #= 65,000
NEHE 5418 SH (288 ILH) 63,000 0 63,000
308 AUXIEHSOIA 63,000 0 63,000
11 3 2S0IHetE & X2 E AL S I 63,000 0 63,000
OXEE sHJ1Y |4 63,000
AATH - DI &Y 4 31,830,900 ,663,900 15,167,000
chR0F &Y 2435 200,000 200,000 0
403 XSS AH201 & 200,000 200,000 0
01 XX EXM A2 = 200,000 200,000 0
OZctE20t &Y 243t 200,000
ol 2H" 2s XA 90,000 90,000 0
308 XHXIEHHI SOl A 90,000 90,000 0
01 HXHHBLEXS 90,000 90,000 0
Ofeldy Jis XA 90,000
St =23 23=ER 29 NE 100,000 100,000 0
306 == 100,000 100,000 0
01 &9 = 100,000 100,000 0
Ost=mda) =73 LEER 100,000
-mobility &g &4 9,875,900 ,000,000 5,875,900
201 24l 20,000 0 20,000
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A
X XH -
(=

S

SH- B SAEH) - NRAY - BES O &k 2 e B RS2
01 At 22|l 18,000 0 18,000
Oe-mobility &g =4 18,000
02 3324 H 2,000 0 2,000
Oe-mobility & =4 2,000
202 O H 5,900 0 5,900
01 2UHOdHI 5,900 0 5,900
Oe-mobility & 4 5,900
308 XFXIEHHI SOl & 4,150,000 4,000,000 150,000
11 3I12S00HetE & X2 E A S I 4,150,000 4,000,000 150,000
©e-mobility Jl=MHg XI& 4,000,000
o2 2=t OtAHE XN 150,000
401 AlE2HIZL 2T Y| 5,700,000 0 5,700,000
01 Al &£ HI 5,596,235 0 5,596,235
oJaEs SE AMAX HMH XNYHH 2= 5,596,235
02 Zeltl 90,000 0 90,000
OZ4E SEE AMAX MH XYM 2= 90,000
03 A2 20l 13,765 0 13,765
oJaEs SE AMAX HMH XNYHH 2= 13,765
EctX0 BAULCEEE AT HEIERF (20 E 390,000 550,000 A 160,000
X)
403 AXSHHSKH=01d 390,000 550,000 160,000
01 X SHHMAH2Ex 390,000 550,000 A 160,000
OZSctX0F Al SSEAaM HEIIE 25 390,000
e-mobility JIGXNAME AF(SNAZTX) 3,000,000 10,000,000 A7,000,000
403 MXISHHS K201 A 3,000,000 10,000,000 7,000,000
02 BII2SUHUEA2H A AL HI 3,000,000 10,000,000 7,000,000
Oe-mobility JIHXHE F= 3,000,000
ZE T UM(EZEAI) AITHDI R 14,475,000 1,700,000 12,775,000
403 AXIEHHSXH= 01 & 14,475,000 1,700,000 12,775,000
02 BJ/2SHUSHA2E 2 E AL HI 14,475,000 1,700,000 12,775,000
OZA= UM(EEZ2EAl) AMII OHe 14,475,000
Ol Xt A MEHAH =& 100,000 0 100,000
308 XXl EHHISOIE 100,000 0 100,000
N 3J12S0tet3 oSS A S I 100,000 0 100,000
O0lch 2Ye2lE =28 29 100,000
1€ 012 StSXIIXM 28 ¥ U ALS X (2t 3,000,000 0 3,000,000
AYHNE)
403 MXISHH S K201 A 3,000,000 0 3,000,000
02 BJ12S0UE =X ?AE AL HI 3,000,000 0 3,000,000
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